Problem B

About a chessboard


Source file: chess.c, chess.cc, chess.pas
Problem

A chessboard is given of the size n x n, where n is the power of 2 (n = 2m, m is an integer (1 ( m ( 7)). The chessboard’s square with position [x, y] (1 ( x, y ( n) has been cut out. Write a program that cuts up the rest of the chessboard to 3-squared pieces of L-shape.

Input

The input consists of several blocks (their number is denoted by w). Each block contains three integers m, x, y – describing the size of the chessboard (the size is 2m) and the position [x, y] of the square that has been cut out. Integers are separated by a single space and each block is terminated by end of line. Last block consists of numbers 0 0 0 (followed by an end-of-line).

Output

The output consists of w blocks. Each block contains 2m lines terminated by an end of line. In each line there is 2m integers filled up by zeros from the left in order to get 4-digit numbers (e.g. 0072) and separated by single space. Each 4-digit integer denotes a color of the square that is located at corresponding position (the row number corresponds to y-th position computed from the last row of the block and column number corresponds to the x-position and is computed from the left). The colors are assigned to the squares of the chessboard such that each 3-squared L-shaped piece of the chessboard that was cut out is colored by a different number (from 0001 to 9999). The square that was in the input cut out is colored by 0000. The end of each block is denoted by line ”---“.

Sample input

2 1 1

1 2 2

0 0 0

(The first block is the chessboard 4 x 4 with bottom left square that is cut out. The second block is the chessboard 2 x 2 with top right square that is cut out.)

Sample output

0001 0001 0002 0002

0001 0004 0004 0002

0003 0003 0004 0005

0000 0003 0005 0005

---

0001 0000

0001 0001

---

